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Examinatiory July/Aug ust 2022"f
s and Applications
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Eighth Semester B.E. Degree
lnternet of Thing

Time: 3 hrs.

I

2

3

5

6

7

9 a. Explain the diff-erent
tr. With a neat diagrarn.

[r,.

oR
ti a. Irxplairr the dif'f'erent con]ponents of FN l- .

b. Describe Distributecl Analy,tics Systems.
c. Describe Netw,ork Analyics.

(08 Marks)
(07 Marks)
(05 Marks)

Module-5
pins/parts of Arduino UNO Board. (t0 Nrarks)
explain the Wireless 'l'ernperature Monitoring 51,519111 with Raspberry

(10 \larl.s)

OR
zl. Write a Pythorr prograln on Raspberrv P, to blink an LL,D
tr. Explain Srnarl Citl Sccurity ArchitectLrre in detail.

(10 Marks)
(10 Marks)

10

fi"agrnentat itt rr in cletatl.

(08 Marks)
(07 Marks)
(05 Marks)

(08 )larl.s)
(07 \Ia rlis)
(05 )larl.s)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 \larks)
(l() \larks)

Note: ,4zswer an)) FIVE full questions, choosing ONE fult question.from each module.

Modu le- I
What is IO I''? Frxplain evolutionarv phases olthe lnternet.
What are thc clillercnt challenges of IO'l'?
Explain the drivers behind new net$,ork architecture.

OR
With a neat cliagrarn. explain one M2M architecture of IOT
[lxplain Core IOT functional stack.
(iorrpare and conlrast I"l' ancl Ol .

)Ioclrrle-2
a. With a neat diagratr. e xplain hori actualors ancl seltsors interact ri ith Physical \\iorlci.

Classily actuators based on enere\ tvpc. (10 i\Iarks)
b. Explain briefly' the Wireless Sensor Netu,ork (WSN) and its Communication Protocols.

(10 Marks)

OR
,l a. Brie{11' explain protocol stack utilization of IEEE 802.15.4.

b. Irxplain I-oRaWAl- standard and alliance MAC la1,er alrd secur.itr.

a. Explain I'unneling lcgacy SCIADA over IP netr,r,orks and SCADA prorocoltranslation uith a

h lii,lfiil'd], n.r,r.*ork a rd nessasc rormar in derair. lil iiill:l
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(10 Marks)

(08 Marks)
(08 Marks)
(04 Marks)

(08 Marks)
(08 Marks)
(04 Marks)

(10 Marks)
(10 Marks)

a

b. Explain
Explain

a. List and exp
Define Datab.

a. What
b. What

is

lain any 3
Warehouse

k

ofB Intelligence (BI)
for data warehouse.design co

6 techniques? (10 Marks;
(10 Marks)

as shown below, create a regression model to predict the

the score for the one who a46inTest1. (loMarks)

involved in developing an artificial neural

IS

7 a. Using the Data givcn
Tcst2 fiorn Testl sco

b. Write the

50 4145 27 63 54 4444 51 42 42 4tTest I 59 52
64 5036

11IJ 50 81 5655 50 66 48 58Test 2 56 63

1 of2

network. (10 Marks)

17CS82

(10 Marks)
(10 Marks)

Eighth Semester B.E. Degree Examinatlono fluty/August 2022
Big Data Aneilflics

Max. Marks: 100

Note: Answer uny FIVE full questiorts, choosittg OwE full question from euch module.

Module-2
Discr-rss tire usage of Apache Pig.
Iirplain Apache Sqoop to Acquire Relational data with an example.

Give the Apaclie Flurne to acquire data strcattrs.

Module-4



OR
8 a. Construct a Decision tree that helps to make decision

game

b. Appl lbr

17CS82

the play of an outdoor

(10 ilIarks)
fl count (minsup) : 2.

l
I

a: - 
....'.: r-

t ,,tiil:.

9

10

(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

Windy PlayTemp HumidityOutlook
?Normal TrueHotSunny

Windy PlayHurridityOutlook Tcrnp
False No,, ,,,1,.ll:...High

Sunny Llot
NoHigh TrueSunny Flot

I;a ls e YesHot HighOvercast
False YesMild HighRainy
False YesCool Non-nalRainy
True NoCool NormalRainy

YesNormal TrueOvercast Cool
No[tieh FalseSunny Mild
YesN, FalseCool

False YesNonlalRainy Mild
True YesMild NonnalSunny

tligh True YesMildOvercast
False YesHot NorralOvercast
Trr:e NoN,lild HighRainy

Trn ltems
11, 12, 15Tr

I:, IqTz

T: "',,,.12, 13

T+ Ir, I:, I+

Ts lr, l:
I 3

2 of2

Srmnv

ASSLIMC

Module-5
List and explain different types of Text Mining applications.

What is Naive-Bayes technique'l Explain its model.

OR
a. What is SVM? With a neat diagram, explain sLrpport vector machine model.

b. Define social network analysis? Explain diffbrent types of nctwork topologies.

,<****
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a Write a stcll by step procedure
OR

to gencratc randolt variate rrsing inverse transform technique

lbr exponent ial distribLlt iott.

trxplain acceptance rejection technique. Generate 3 Poisson variate \'vith me

Consiclcr thc rancionr nLllllbers 0.4357, 0.:l146, 0.8353, 0.9952, 0'8004

(10 Marks)
an : 0,2.
(10 Marks)

J 4.\ s 6s1' I 2

0.30 0.25 lo.to 0.05P 0. r0 0.20

I of 2-

usl,{ 17CS834

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

Eighth Semester B.E. I)egree Examination, July/August 2022

System Modeling and Simulation
Tirne: 3 hls. Max. Marks: 100

Note: Ansx,er ony [;JtrtU t,rll questiorrs, cltoosing ONE full questionfrom eacll module.

Module-1
I a. [-ist anv llvc circr-rmstaltces, lvhcn the simulation is the appropriate and when it is not.

(05 N'Iarks)

b. Wrrte the advantriges and disaclvantages ol'simulatiott. (05 N{arks)

c. Lrplain u,ith a llow chart the stcps irrvolved in sintulalion study. (l0N{arks)

2

OR
a. Ilxplain cve nt-schcdLrling / -t'intc 

advancc algorithrn rvith example . (10 NIarks)

il I)cvelolt a manual sintulation tablc 1br single scrver queurng s-vstem ola grocery shop fbr 6

custollcrs and lincl, (i) Avcragc rvaiting ttme ol'customer (ii) [dlc time of server (iii)
Averagc tinre custonter spcnds in systcnr. (ir,) Probability wait cLtslolxers arrive at shop

randontly ltorl I to 8 ntinLrtcs and havc equal probability. Ssrvice time varies fiom I to 6
rninr-rtcs. "fhe randonr cligits fbr lA'l'and S-f irre 913.121.015. 948, 309 and 84, 10, 74,53,
1i.79 respectively

(10 Marks)

Module-2
3 a. Explain cliscrcte distribution and continuous clistribution rvitl-r exan'rples.

b. What is Poisson process'/ Mcntion the propellics of Poisson process.

Module-3
a. E.xplain combipecl linear conqnrcntial methocl tbr random number generation. (10 Nlarks)

b. 1"he scquencc of numbers 0.44,0.81,0.14,0.05,0.93 has been generated. Usetl.re

Kolnrogorov-Srnirnov test ii,ith u:0.05 to dctermine if the hypothcsis that the nutnbers are

Lrnifbllly clistribLrtcd on thc intervtrl (0, l) can be rejected. Comparc F(X) and S.(X) on a

graph (rvhere f),, = 0.565 ) (10 N{arks)



17CS834

(10 Marks)

(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

I il.

b

tl a.

N{otlule-5
bui ldrng, vcrillcation and valiclation

to validatiorr by Naylor and F ingcr.

frvhcre 7,i,,,11.11

b. ljxplain the tlPes of simLr respect to the outPLrt al.lalysis

rrodcl
achapprothcDescribe

neatwithlainExir

10tl.imulatSstate
OR
and stcadv

a.

b

0

9

1 lngtenrllnatlorISlainIlxp
Erp

i

a.

b

I
L

..'',

2of2

9 t0 11l 85 63 14I 20Interval
3 1-5 J1 -5t] 

I 
,o 81912 r0Observed

liccluency

of fit test. test rvlrether ranclom nLttnbers are unifortrlly distribr'rtcd basecl on

Poisson ivith le vel of t1:0 a -- 3.64 . data arc

*>B*,i:*


